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QUESTION 1

To configure a storage system as a member of a Windows active directory domain, the time on the storage system must
be set to be within plus or minus five minutes of the time on the domain controller. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

What is a VSIM? 

A. It is a data replication solution. 

B. It is a data protection solution for remote and branch offices. 

C. It runs Data ONTAP without using standard NetApp platforms. 

D. It is a thin replication solution. 

Correct Answer: C 

 

QUESTION 3

Which three are used for creating LUNs on a storage system? (Choose three.) 

A. lun create 

B. lun setup 

C. lun config 

D. FilerView 

Correct Answer: ABD 

 

QUESTION 4

What are three characteristics of a logical interface (UF)? 

A. A UF can be associated with an interface group. 

B. A UF can be associated with an IP address. 

C. A UF can be associated with an Ethernet MAC address. 
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D. A UF can be associated with the speed, duplex and flow control settings. 

E. A UF can be associated with a WWPN. 

Correct Answer: ABC 

 

QUESTION 5

In a Fibre Channel configuration, the host\\'s HBA is referred to as the ___________ , and the storage system\\'s HBA is
referred to as the __________ . 

A. primary, secondary 

B. initiator, target 

C. secondary, primary 

D. target, initiator 

Correct Answer: B 
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